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. If the current node is null then return true.

. If the value of the left child of the node is greater than or equal to the current node then

return false.

. If the value of the right child of the node is less than or equal to the current node then

return false.
. If the left subtree or the right subtree is not a BST then return false.

. Elsereturn true

2024/2025 A5 Juad 8a 1 ik (o — 4ila slaal) dssit — 5 jlial) dsala https://manara.edu.sy/ 4/42


https://manara.edu.sy/
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Basic Operations on BST:

Searching in Binary Search Tree

Insertion in Binary Search Tree

Deletion in Binary Search Tree

Binary Search Tree (BST) Traversals — Inorder, Preorder, Post Order
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Searching in Binary Search Tree

Y
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Consider The Following BST
Key=6

As Key ( 6 ) Is Greater Than 3,

Search In The Right Subtree Of 3 3

Ao T asld Coe by § find(k) dlentl sl

o decision tree 1,3 5= Lel e Byddl I
‘.3!3 k Eeedl CL’LM 2oV alsls Bude IS e 4yLall
v osudall 9 dijkll deddl ae diilie dAmds cdlS

® 0@

Compare Key With Root, i.e 8
as 6¢<8, search in left subtree
of 8

® ©@

As 6 Is Equal To Key (8), So We Have
Found The Key

4

key(v) s 4] sLadlg

W all Bymidl § Gl pelun Jidie Aol °
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dcyall Bymidl 3 Gmdl eiun diwie pST°
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leb g cemdl Ol duie (golw) 4] MMy °
.return true
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Searching PA 2 4l S M By § Em

T e bie pvs ol 7lide ga k s ccagbadll 13 Shaie Livog 17 ojylgiel! alaill o

298 dal Juams Eus v Layds Gy T 8yl (o T(v) due yall 8ye ddl oo W (28 g0) 5udc TreeSearch dds,hall uas
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ke Golus Loliie W paiall cllosy &l lssude 2w -

T(v) § liasaie b bide csatd k 0T Y1 T(V) e catsys Jooms Al § k adige Jied &yl Bude AW -
.TreeSearch(k,root()) cLe | JM3 40 find(k) 4as atl jloes) Sas  JLtLig
Lsts Wl w esd e ikie (s ls Buie A w calS 13] elootiu] e Solakl T 8y dl o Buiall (b w oS

gl Ll doiyl g 7y null e
Algorithm TreeSearch(k,v):
if T.isExternal(v) then  returnv
if k<key(v) then return TreeSearch(k,T.left(v))

else if k>key(v) then return TreeSearch(k,T.right(v))

return v {we know k=key(v)}
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: BST caiall public M&J‘ esaSearch() c.)\.?.” RS C‘.J“a‘u‘ Wl ey Q\.ﬁL@

bool Search(const int & item) const;

bool BST :: Search(const int & item) const

{

BST *locptr =root; bool found =false;

for(;;)
{ if (found||locptr==0) break;
if (item < locptr->data) // descend left

locptr = locptr->left;

else if (item > locptr->data) // descend right
locptr = locptr->right;

else found =true; //item found

}

return found;

}

ralll § adldl 8,08l LS (a9

o (w9 L Emdl Bymd Hda wie locptr yasll Tay Coo
GO9S crusm adladl sudall gyluddl of Gued! Jal I Jf Jasiy
J Wl el oo ST o yigol die Gomg gl el
ol cgiyll paiall slaml o G dleadl sda yeiud Badall
ol gai @l A8)l8 Aeeyd 5yt JI nde Lypaio locptr muay

Byzmddl § 9290 pl giaiall
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// Utility function to search a key in a BST
BST BST::search(BST * root, int key)
{ // Base Cases: root is null or key is present at root
if (root == NULL) return NULL;
if (root->key == key) return root ;
// Key 1s greater than root's key
if (root->key < key)return search(root->right, key);
// Key is smaller than root's key

return search(root->left, key);
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Update Operations(Insertion [AD 3 <1 s
P P ( ) — 1 () docad! 351 40
, §)lioll
Lolas 3yl ciliaiylgs alasmiwl remove ginsert obdleall cla by 46U Eedl sl s
AL L) Adas pasais T 4GS 8y ds o2 : Insertion odxt! -1
gl Lellae| IMS (e A1y $9S Vv awsiy Vv deyls Bude e ymiall 4L tinsertAtExternal(vie) -
NULL dagill Lge opaball

2-7 aladll § &l ginsert(k,x) Judis Sy (dds,boll sia alusiwl

BST* BST::Insert(BST* root, int value)
{if (!root) {return new BST(value);} // Insert the first node, if root is NULL.
if (value > root->data) {// Insert data.
/*Insert right node data, if the 'value’to be inserted is greater than 'root’ .Process right nodes.*/
root->right = Insert(root->right, value);}
else if (value < root->data) {
/* Insert left node data, if the 'value’ to be inserted is smaller than 'root' node data. Process left nodes.*/

root->left = Insert(root->left, value);}

return root;} // Return 'root' node, after insertion
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Update Operations(Insertion) [A 2 ( 5 ‘) ! s
Consider The Following BST STEP 3 : Comparing x with 6)liaJl
the right child of 20 T

Teds sl auis Buaiylgdedl ia pods

J) awss Jly dmyls sude I T jde (e
donddl  glgid  Bgus  Adsls Budc
& hxld Ylia 3-7 S (nmy Buu!

X = 40 ( The Node To Be Inserted )

STEP 1: Comparing X

X Again 40 Is Greater Than 30 M Lﬁ' e - FA
with Root Node Move Pointer To The Right Side T TR By
Root =gl 100 Of 30
@ @ STEP 4 :Insert item
) = to the right of 30

Since 100 Is Greater Than 40.
Move Pointer To The Left Child ( 20 )

Bl (A 40 4a pais pda -3-7 JSa
(a) adsall dag) 17 JSa b Al Gual

STEP 2 : Comparing X with

left child of root node

«<— |Inserted @m‘ BM ‘ (b)
Node
As 40 Is Greater Than The Node 30,

Thus It Will Be Inserted To The Right
of 30

Since 20 Is Less Than 40, Move
Pointer To The Right Child (30)
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Delete RS

duyls sudcTreeSearch slel 13) - 1-2
g gl yhsll Ay oty Lanie (43y9)

Deleted Node 20 ddodzll Budall waadg null golun L
Al ,lad naall ol

Case 2: Delete A Node With Single Child In BST

et R B A A L L A L AL '...al' R AR AR R W W

Delote Node 70
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Delete G

Case 3 :Delete A Node With Both Children In BST

Roplace 50 With It's In

Order SUCCossSOor ) Delete 50

Delete Node 50 After Deletion

929 Successor (ye Eumg I s D13 1o Lt Addgwdade (pg sixtl § O3 (50 7 Liall 93) ddi> syl yininl-2-2
L,,éﬁ NULL é)\_w,\.." 8 3 50 é.ﬁ‘ guaiadl e Eemdg (nedd 54w Jgi ESHYR Sa=ig sad! sl g M‘ &).n." L.? saia]|
T ydsdl UiSey iy pgligW J1 50 Lal gz Fadigy <@ L add bag dua s Bude (2950 Lidl>
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Update Operati PA 5 S a
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Removal RES|

: oliadl yaol sl 2
Node *findmin( Node *r)
{
if (r==NULL) return NULL;
else if (r->left==NULL)returnr;

else return findmin(r->left);

}

Cxdl bamds (e Adxdl -5-7 S

il Sy 3-7 JCA1 § Al astadl

Sade § Oy (65 zLiall 93) ddds syl
(o b (Jda)nds s Lpn) ISw
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Binary Search Tree (BST) Traversals [A Al Gy By & Jl g
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Binary Search Tree (BST) Traversals — Inorder, Preorder, Post Order

Preorder (PLR) At first visit the root then traverse lefr subtree and then traverse

the right subtree.
(4

Postorder (LRP) :Ar first traverse left subtree then traverse the right

subtree and then visit the root.

Inorder (LPR) : At first traverse left subtree then visit the root and then traverse

the rl:ght subtree.
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Performance of a Binary Search Tree
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HUFFMAN'S ALGORITHM

1-initialize a list of one-node binaly trees containing the weights W, W,,... ,W_oOne for each of the characters C.C,.

,CnQ
2-do the following n-1times:
a-find two trees Tand T  in this list with roots of minimal weights w andw’.

b-replace these two trees with a binary tree whose root is w+w , and whose subtrees are T and T, and label

the pointers to these subtrees 0 and 1 respectively.

3-the code for character C.is the bit string labeling a path in the final binary tree from the root to the leaf for C.
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Huffman code 01 0000 0001 001 1
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HUFFMAN DECODING ALGORITHM
1-initialize pointer p to the root of the Huffman tree.
2-while the end of the message string has not been reached, do the following:
a- let x be the next bit in the string.
b- if x=0 then set p equal to its left child pointer.
else set p equal to its right child pointer.
c-if p points to a leaf then

i-display the character associated with that leaf.

ii-reset p to the root of the Huffman tree.
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ot
// C++ program to demonstrate insertion
// in a BST recursively
#include <iostream>
using namespace std;
class BST {

public: int data; BST *left, *right;

BST(); // Default constructor.
BST(int); // Parameterized constructor.
BST* Insert(BST¥, int); // Insert function.

void Inorder(BST*); // Inorder traversal.

void Postorder(BST*); // Postorder traversal

void Preorder(BST*); // Preorder traversal.

BST* deleteNode(BST*, int); // Delete function.

1.
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#include <iostream>

#include "BST.h"

using namespace std;

// Default Constructor definition.

BST::BST(): data(0) , left(NULL), right(NULL){}

// Parameterized Constructor definition.

BST::BST(int value){data = value; left = right = NULL;}

// Insert function definition.

BST* BST:Insert(BST* root, int value)

{if (!root) {// Insert the first node, if root is NULL.

return new BST(value);}

// Insert data.

if (value > root->data) {root->right = Insert(root->right, value);}

/*Insert right node data, if the 'value’ to be inserted is greater than 'root’ .Process right nodes.*/
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else if (value < root->data) {

/* Insert left node data, if the 'value’ to be inserted is smaller than 'root' node data. Process left nodes.*/

root->left = Insert(root->left, value);}

return root;} // Return 'root' node, after insertion

// Preorder, Postorder, Inorder traversal function.This gives data in sorted order.

void BST::Preorder(BST*r) // root ->left->right
{if (r==NULL) return;  cout<<r->data<<"\t"; Preorder(r->left); Preorder(r->right); }

void BST::Postorder(BST*r) // left--> right->root
{if (r==NULL) return; Postorder(r->left); Postorder(r->right); cout << r->data <<"\t";}

void BST::Inorder(BST* root) // left--> root-> right

{if (root == NULL) {return;}Inorder(root->left); cout << root->data<<"";  Inorder(root->right);}
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// Function that returns the node with minimum key value found in that tree
BST * minValueNode(BST * node)
{ BST * current=node;// Loop down to find the leftmost leaf
while (current && current->left !=NULL) current = current->left;
return current;}
// Function that deletes the key and returns the new root
BST* BST::deleteNode(BST* root, int value)
{ //base Case
if (root==NULL)  returnroot;
// If the key to be deleted is smaller than the root's key, then it lies in left subtree
if (value < root->data)
{root->left = deleteNode(root->left, value);}

// If the key to be deleted is greater than the root's key,

BSTF.CPP sl 5l ke
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// then it lies in right subtree
else if (value > root->data)
{ root->right= deleteNode(root->right, value);}
// If key is same as root's key, then this is the node to be deleted

else {// Node with only one child or no child

if (root->left == NULL) // one child on the right
{ BST * temp = root->right; free(root); return temp;}
else if (root->right == NULL) // one child on the left
{ BST * temp = root->left; free(root); returntemp;}

// Node with two children:Get the inorder successor(smallest in the right subtree)

BST * temp = minValueNode(root->right);

// Copy the inorder successor's content to this node

root->data = temp->data;
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// Delete the inorder successor T

root->right= deleteNode(root->right, temp->data); }

return root;

}

#include "BST.h"

using namespace std;

// Driver code

int main(){

/*Let us create following BST

50
/\
30 70

/N /A

20 40 60 80*/
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BST b, *root = NULL; root = b.Insert(root, 50); b.Insert(root, 30);
b.Insert(root, 20); b.Insert(root, 40); b.Insert(root, 70);
b.Insert(root, 60); b.Insert(root, 80);
printf("\n Original BST in Preorder:\t"); b.Preorder(root);
printf("\n Original BST in Postorder:\t"); b.Postorder(root);
printf("\n Original BST:"); b.Inorder(root);
printf("\n\nDelete a Leaf Node: 20\n"); root = b.deleteNode(root, 20);
printf("Modified BST tree after deleting Leaf Node:\n"); b.Inorder(root);
printf("\n\nDelete Node with single child: 70\n"); root = b.deleteNode(root, 70);
printf("Modified BST tree after deleting single child Node:\n"); b.Inorder(root);
printf("\n\nDelete Node with both child: 50\n"); root = b.deleteNode(root, 50);
printf("Modified BST tree after deleting both child Node:\n"); b.Inorder(root);
system("pause"); return 0;

}
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Original BST in Preorder: 50 30 20 40 70 60 80~ -
Original BST in Postorder: 20 40 30 60 80 70 50

Original BSTinInorder: 20 30 40 50 60 70 80

Delete a Leaf Node: 20
Modified BST tree after deleting Leaf Node:
30 40 50 60 70 80

Delete Node with single child: 70
Modified BST tree after deleting single child Node:
30 40 50 60 80

Delete Node with both child: 50
Modified BST tree after deleting both child Node:
30 40 60 80

Press any key to continue...
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AVLTrees

1-

2-Why AVL Trees?.

3-Operations on an AVL Tree

4-Rotating the subtrees in an AVL Tree

5- Advantages and Disadvantages of AVL Tree

6- Insertion in an AVL Tree

7-Deletion in an AVL Tree

8-Searching in an AVL Tree

O-lllustration of Insertion at AVL Tree
References

- Deitel & Deitel, Java How to Program, Pearson; 10th Ed(2015)
https://www.geeksforgeeks.org »

2024/2025 AU Juad 10p 1 clara i — Al gha ddia — 5 L) daala https://manara.edu.sy/

43


https://manara.edu.sy/
https://www.geeksforgeeks.org/introduction-to-avl-tree/

[
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An AVL tree defined as a self-balancing Binary Search Tree (BST) where the difference

berween he/'g/n‘s of left and r/'g/n‘ subtrees for an )% node cannot be more than one.

The difference between the heights of the left subtree and the right subtree for any node

is known as the balance factor of the node.

The AVL tree is named after its inventors, Georgy Adelson- Velsky and Evgenii Landis,

who published itin their 1962 paper “An algorithm for the organization of information”.
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AVL tree 2
AVL Tree
12
A,
'8 18
J— \..,.__,..f
(5) (M) (17)
4

The tree on the left is AVL because
the differences between the
heights of left and right subtrees
for every node are less than or

equal to 1.
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Why AVL Trees?

Most of the BST operations (e.g., search, max, min, insert, delete.. etc) take O(h) time
where h is the height of the BST. The cost of these operations may become O(n) for
a skewed Binary tree. If we make sure that the height of the tree
remains O(log(n)) after every insertion and deletion, then we can guarantee an upper
bound of O(log(n)) for all these operations. The hejght of an AVL tree is

always O(log(n)) where n is the number of nodes in the tree.
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Operations on an AVL Tree 1 [A
Operations on an AVL Tree:

. Insertion

. Deletion

. Searching [Itis similar to performing a search in BST]

Rotating the subtrees in an AVL Tree:

An AVL tree may rotate in one of the following four ways to keep itself balanced:

Left Rotation.

Right Rotation.

Right-Left Rotation .

Left-Right Rotation .
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Operations on an AVL Tree 2

LR LT T

Left Rotation:
When a node is added
into the right subtree of

the right subtree, if the
tree gets out of balance,
we do a single left
rotation

(anticlockwise rotation).

Right UnBalanced tree Left Rotation Balanced

| eft Rotation
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Right Rotation:

If a node is added to

the left subtree of the

left subtree, the AVL -

tree may get out of o o

balance, we do a single * *

right rotation 0 e @ o

( clockwise rotation). 0 0
Left UnBalaced tree Right Rotation Balanced
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Operations on an AVL Tree 4

R, T

Left-Right

Rotation:

A left-right rotation
is a combination in
which  first  left
rotation takes place
after  that  right

rotation executes.

Left-Right Rotation
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LR LT T

Right-Left

Rotation: 2

A right-left rotation o 1 o

is a combination in ° o
which  first  right

rotation takes place D e
after that left

rotation executes. _ _
Right-Left Rotation
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Advantages of AVL Tree:
1. AVL trees can self-balance themselves.
2. ltissurely not skewed.
3. It provides faster lookups than Red-Black Trees

4. Better searching time complexity compared to other trees like binary tree.

5. Height cannot exceed Iogz(n), where, N is the total number of nodes in the tree.
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Disadvantages of AVL Tree:

1. ltis difficult to implement.

2. It has high constant factors for some of the operations.
3. Lessused compared to Red-Black trees.

4. Due toits rather strict balance, AVL trees provide complicated insertion and

removal operations as more rotations are performed.

5. Take more processing for balancing.
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Insertion in an AVL Tree

AVL Tree:

AVL tree is a self-balancing Binary Search Tree

(BST) where the difference between heights

12

of left and right subtrees cannot be more

11

than one for all nodes. /

Insert two node with value 7, then 2 The tree 4

is not an AVL tree

18

7
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12

11

The tree is not AVL because
the differences between the
heights of the left and right
subtrees for 8 and 12 are
greater than 1.

2

17
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Insertion in an AVL Tree 3

Insertion in AVL Tree:

To make sure that the given tree remains AVL after every insertion, we must augment the standard
BST insert operation to perform some re-balancing.

Following are two basic operations that can be performed to balance a BST without violating the

BST property (keys(left) < key(root) < keys(right)).
. Left Rotation
. Right Rotation

T1, T2 and T3 are subtrees of the tree, rooted with y (on the left side) or x (on the right side)
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y X
/\ Right Rotation /\

x 13 ------- > 11 y
AN S /\
T1 T2 L eft Rotation T2 T3

Keys in both of the above trees follow the following order
keys(T1) < key(x) < keys(T2) <key(y) < keys(T3)

So BST property is not violated anywhere.
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Left Left Case
1. Left Left Case

W

T1l, T2, T3 and T4 are subtrees.

Z

/ \
y T4

/ \
X T3

/\
T1 T2
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1. Left Left Case
Tl, T2, T3 and T4 are subtrees.

Z y
/ \ / 0\
y T4 Right Rotate (z) X Z
/N - -0)eLadl- - - > / 0\ /\
X 13 T1 T2 T3 T4
/ \
T1 T2
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2. Left RightCase

Z

/ \
y T4

/ \
T1 X

/ \
T2 T3
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2. Left RightCase
Z Z
/ \ / 0\
y T4 Left Rotate (y) X T4
/ \ - - - - - s - /\
T1 X y T3
/ \ / \
T2 T3 T1 T2
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2. Left RightCase

Z

/ \
y T4 Left Rotate (y)

/ \
T1 X

/ \
T2 T3

->

R, T

/0 \

->

Y Z
/ \ / \
T1L T2 T3 T4

2024/2025 AU Juad 10p 1 clara i — Al gha ddia — 5 L) daala

https://manara.edu.sy/

62


https://manara.edu.sy/

Right Right Case PA

dszolo
3. Right Right Case
Z y
/ 0\ W N
Tl vy Left Rotate(z) Z X
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4. RightLeft Case

Z

/ \
Tl y Right Rotate (y)

A
X T4

/ \
T2 T3

R, T

/ \
T1 X

/\
T2 y

/\
T3 T4

2024/2025 AU Juad 100 1 Clshra o — 4500 glas duitit — 5 jlial) daala

https://manara.edu.sy/

65


https://manara.edu.sy/

Right Left Case %“7

deola
4. RightLeft Case
y Z X
/ \ / \ /\
Tl y Right Rotate (y) Tl X Left Rotate(z) =z y
/' \ - - - - - - /" \ - ------=>/\ /\
X T4 T2 vy T1 T2 T3 T4
/ \ /[ \
T2 T3 T3 T4

2024/2025 G Juad 10a 1 clidara s — 43l glaa dudia — 3 lal) daala https://manara.edu.sy/


https://manara.edu.sy/

IHlustration of Insertion at AVL Tree 1

[

6)liaJl

2024/2025 A5 Juad 105 1 Sbara o — Aila sles Fusia — 5 jlial daala

https://manara.edu.sy/

67


https://manara.edu.sy/

IHlustration of Insertion at AVL Tree 1 [A

2024/2025 i Juad 105 1 labira i — Aila slaa duia — 5 jUial) dasla https://manara.edu.sy/ .


https://manara.edu.sy/

IHlustration of Insertion at AVL Tree 1

[

6)liaJl

2024/2025 AU Juad 10p 1 libara oy — 4l glaa dia — 3 Ual) daala

https://manara.edu.sy/

69


https://manara.edu.sy/

IHlustration of Insertion at AVL Tree 1

[

6)liaJl

2024/2025 A5 Juad 105 1 Sbara o — Aila sles Fusia — 5 jlial daala

https://manara.edu.sy/

70


https://manara.edu.sy/

Illustration of Insertion at AVL Tree 2 %

Insert Node with value 3 //\ l

2024/2025 G Juad 10a 1 clidara s — 43l glaa dudia — 3 lal) daala https://manara.edu.sy/

71


https://manara.edu.sy/

Illustration of Insertion at AVL Tree 2 %‘\7

2024/2025 AL Juad 10p 1 lbiara A — Aila gla Audia — 5 jlial) daals https://manara.edu.sy/

72


https://manara.edu.sy/

Illustration of Insertion at AVL Tree 2 %‘J

2024/2025 AL Juad 10p 1 lbiara A — Aila gla Audia — 5 jlial) daals https://manara.edu.sy/

73


https://manara.edu.sy/

Illustration of Insertion at AVL Tree 3 [A
6jligJi

; (a0)
A ) ()

[y

+2

2024/2025 AU Juad 10p 1 clara i — Al gha ddia — 5 L) daala https://manara.edu.sy/

74


https://manara.edu.sy/

Illustration of Insertion at AVL Tree 3

+2

+1

[

Insert 45

&jliall
+1
0
() ()
0

2024/2025 A5 Juad 105 1 Sbara o — Aila sles Fusia — 5 jlial daala

https://manara.edu.sy/

75


https://manara.edu.sy/

IHlustration of Insertion at AVL Tree 3 [A
-y
&)liall

+2 ”

+1

0
A o(5) (35)
Insert 45
(w0

Left rotate, node with value 30

Taken as pivot > 2 A
() O

0

I
2024/2025 AU Juad 10p 1 clara i — Al gha ddia — 5 L) daala https://manara.edu.sy/

76


https://manara.edu.sy/

IHlustration of Insertion at AVL Tree 4 [A
-y
&)Li_all

2024/2025 AU Juad 10p 1 clara i — Al gha ddia — 5 L) daala https://manara.edu.sy/

77


https://manara.edu.sy/

IHlustration of Insertion at AVL Tree 4 [A
6jligJi

Left rotation,
5 as pivot

2024/2025 AU Juad 10p 1 clara i — Al gha ddia — 5 L) daala https://manara.edu.sy/

78


https://manara.edu.sy/

IHlustration of Insertion at AVL Tree 4 [A
6jligJi

Right rotation,

do as pivot

Left rotation,
5 as pivot

2024/2025 AU Juad 10p 1 clara i — Al gha ddia — 5 L) daala https://manara.edu.sy/

79


https://manara.edu.sy/

Illustration of Insertion at AVL Tree 5 [A
6jligJi

Insert 15

2024/2025 AU Juad 10p 1 clara i — Al gha ddia — 5 L) daala https://manara.edu.sy/

80


https://manara.edu.sy/

Illustration of Insertion at AVL Tree 5 [A
6jligJi

Insert 15

2024/2025 AU Juad 10p 1 clara i — Al gha ddia — 5 L) daala https://manara.edu.sy/

81


https://manara.edu.sy/

Illustration of Insertion at AVL Tree 5 [A
6jligJi

Insert 15

Left Rotation, 9

i
Right Rotation, 16
as pivot
)

+1

2024/2025 AU Juad 10p 1 clara i — Al gha ddia — 5 L) daala https://manara.edu.sy/


https://manara.edu.sy/

Illustration of Insertion at AVL Tree 5 PAV
o

6)Liadl
// C++ program to delete a node from AVL-Free
#include<iostream>
using namespace std;
// An AVL tree node
class Node { public: int key; Node *left; Node *right; int height; };

// A utility function to get maximum of two integers
int max(int a, int b);

// A utility function to get height of the tree
int height(Node *N) { if (N == NULL) return 0; return N->height; }

// A utility function to get maximum of two integers
int max(int a, int b) { return (a > b)? a : b; }

/* Helper function that allocates a new node with the given key and
NULL left and right pointers. */
Node* newNode(int key) { Node* node = new Node(); node->key = key;
node->left = NULL; node->right = NULL;
node->height = 1; // new node is initially added at leaf

_ return(node); }
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// A utility function to right rotate subﬁ?%éqrooted with y See the diagram given above.
Node *rightRotate(Node *y) { Node *x = y->left; Node *T2 = x->right;
x->right = y; y->left = T2; // Perform rotation

// Update heights

y->height = max(height(y->left), height(y->right)) + 1;

x->height = max(height(x->left), height(x->right)) + 1;
return x; // Return new root

}
// A utility function to left rotate subtree rooted with x
// See the diagram given above.
Node *leftRotate(Node *x) { Node *y = x->right; Node *T2 = y->left;
y->left = x; x->right = T2; // Perform rotation
// Update heights
x->height = max(height(x->left),height(x->right)) + 1;
y->height = max(height(y->left),height(y->right)) + 1;
return y; // Return new root
}
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// Get Balance factor of node N T
int getBalance(Node *N) { if (N == NULL) return 0;
return height(N->left) - height(N->right); }

Node* insert(Node* node, int key) { /* 1. Perform the normal BST rotation */
if (node == NULL) return(newNode(key));
if (key < node->key) node->left = insert(node->left, key);
else if (key > node->key)node->right = insert(node->right, key);
else return node; // Equal keys not allowed

/* 2. Update height of this ancestor node */
node->height = 1 + max(height(node->left), height(node->right));

/¥ 3. Get the balance factor of this ancestor node to check whether
this node became unbalanced */
int balance = getBalance(node);

// If this node becomes unbalanced, then there are 4 cases Left Left Case
if (balance > 1 & key < node->left->key)return rightRotate(node);

// Right Right Case
if (balance < -1 && key > node->right->key)return leftRotate(node);
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// Left Right Case
if (balance > 1 & key > node->left->key){ node->left = leftRotate(node->left);
return rightRotate(node); }

// Right Left Case
if (balance<-1 && key < node->right->key){node->right = rightRotate(node->right);
return leftRotate(node); }

/* return the (unchanged) node pointer */
return node; }

/* Given a non-empty binary search tree, return the node with minimum key value
found in that tree. Note that the entire tree does not need to be searched. */
Node * minValueNode(Node* node) { Node* current = node;

/* loop down to find the leftmost leaf */
while (current->left != NULL) current = current->left; return current;

}
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// Recursive function to delete a node with given key from subtree with
// given root. It returns root of the modified subtree.
Node* deleteNode(Node* root, int key) { // STEP 1: PERFORM STANDARD BST DELETE

if (root == NULL) return root;

// If the key to be del is smaller than the root's key, then it lies in left subtree
if ( key < root->key ) root->left = deleteNode(root->left, key);

// If the key to be del is greater than the root's key, then it lies in right subtree
else if( key > root->key ) root->right = deleteNode(root->right, key);

// if key is same as root's key, then This is the node to be deleted
else { // node with only one child or no child
if( (root->left == NULL) || (root->right == NULL) )
{ Node *temp = root->left ? root->left :root->right;

if (temp == NULL) { temp = root; root = NULL; } // No child case
else // One child case
*root = *temp; // Copy the contents of the non-empty child
free(temp); }
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else { // node with two children: Get the inorder
Node* temp = minValueNode(root->right); // successor (smallest in the right subtree)
root->key = temp->key; // Copy the inorder successor's data to this node

root->right = deleteNode(root->right, temp->key); // Delete the inorder successor

}

if (root == NULL) return root; // If the tree had only one node then return

// STEP 2: UPDATE HEIGHT OF THE CURRENT NODE
root->height = 1 + max(height(root->left), height(root->right));

// STEP 3: GET THE BALANCE FACTOR OF THIS NODE (to check whether this
// node became unbalanced)
int balance = getBalance(root);

// If this node becomes unbalanced, then there are 4 cases // Left Left Case
if (balance > 1 && getBalance(root->left) >= 0) return rightRotate(root);
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// Left Right Case
if (balance > 1 & getBalance(root->left) < @) {root->left = leftRotate(root->left);

return rightRotate(root); }

// Right Right Case
if (balance < -1 && getBalance(root->right) <= @) return leftRotate(root);

// Right Left Case
if (balance < -1 && getBalance(root->right)»>0){root->right=rightRotate(root->right);

return leftRotate(root);
}

return root;

}

// A utility function to print preorder traversal of the tree.
// The function also prints height of every node
void preOrder(Node *root) { if(root != NULL)
{cout << root->key << " "; preOrder(root->left);preOrder(root->right); }

}
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// Driver Code
int main()
{ Node *root = NULL;
/* Constructing tree given in the above figure */

root = insert(root, 9); root = insert(root, 5);
root = insert(root, 9); root = insert(root, 6);
root = insert(root, -1); root = insert(root, 1);

/* The constructed AVL Tree would be
9

/ \
1 10

root
root
root

insert(root, 10);
insert(root, 11);
insert(root, 2);
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cout << "Preorder traversal of the constructed AVL tree is \n";
preOrder(root);

root = deleteNode(root, 10);
/* The AVL Tree after deletion of 10

*/

cout << "\nPreorder traversal after deletion of 10 \n";
preOrder(root);
system("pause"”); return 0;

}
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(: Construct an AVL tree having the following elements

H,LJLB,A,E,C,F,D,G K L
InsertH, |, )

RR Rotation

ZY

6)li_all

R, T
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(: Construct an AVL tree having the following elements
H,I,J,B,AE,C,F,D,G KL
Insert H, 1, J The resultant balance tree is:

RR Rotation

\(Balanced)

/
o
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(: Construct an AVL tree having the following elements

H,LJLB,A,E,C,F,D,G K L
InsertH, |, )

RR Rotation

Py

degl o
0)liaJl

LILEE PSS et

The resultant balance tree is:

\(Balanced)

2.InsertB, A

o
o LL Rotation
0/

2024/2025 AU Juad 100 1 Clshra o — 4500 glas duitit — 5 jlial) daala

https://manara.edu.sy/


https://manara.edu.sy/

Hl

,B,AE,CFD,GKL

Ioo
I>

'10

(Balanced)

0”
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3.InsertE
K ' O
/
/ O\ AR
0 0 0
t\;l RR Rotation
/ \ (Balanced) / N, —
0 \ LR Rotation

0 ‘1 },
RR + LL Rotation
0/
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3. InsertE
K 'O
/
7
/\ /N
0 0 0
,\1 RR Rotation

/ \ (Balanced) / N, —
0 \ LR Rotation

0 -1 >
0 /

RR + LL Rotation

The resultant tree after RR rotation is:

O
o o
ﬁ LL Rotation
o >

/ N\
o O

3b) We first perform LL rotation on the node |
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The resultant balanced
tree after LL rotation is:

& |
© O
o/ No N,
o 0 ©

(Balanced)

[

&jliall

LILEE PSS et
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The resultant balanced
tree after LL rotation is:

oo

o/ N\
© O
o/ No N\,
o 0 ©

(Balanced)
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4a) We first perform LL rotation on node E

The resultant balanced
tree after LL rotation is:

oo
o/ N\
O O
/No N

The resultant tree after LL rotation is:

Oo e oo LL Rotation
(Balanced)
LL +RR
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4b) We then perform RR rotation on node B

The resultant balanced tree after RR rotation is:

RR Rotation

(Balanced)

»>

[

&jliall

LILEE PSS et
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4b) We then perform RR rotation on node B 5. Insert G

The resultant balanced tree after RR rotation is:

RR Rotation

. (Balanced) //_R

LR Rntatinnk
RR + LL Rotation

RR Rotation
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LILEE PSS et

4b) We then perform RR rotation on node B 5 Insert G 5 a) We first perform RR rotation on node C

The resultant tree after RR rotation is:
The resultant balanced tree after RR rotation is:

RR Rotation

. (Balanced) //_R

LR Rntatinnk
RR + LL Rotation

RR Rotation
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5 b) We then perform LL rotation on node H

The resultant balanced tree after LL rotation is:

(Balanced)
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5 b) We then perform LL rotation on node H

The resultant balanced tree after LL rotation is:

6. Insert K

(Balanced)

2024/2025 G Juad 10p 1 chbara 5 — 45l sles duuia — 3 jial) daala https://manara.edu.sy/ 107


https://manara.edu.sy/

HIBAECEDGKL )
i:'uLi_El.iI

LILEE PSS et

The resultant balanced tree after RR rotation is:

2024/2025 G Juad 10p 1 chbara 5 — 45l sles duuia — 3 jial) daala https://manara.edu.sy/ 108


https://manara.edu.sy/

H’ l’ 1’ E’A'E' CIEI D ’ G ’ K,L %\7

LILEE PSS et

The resultant balanced tree after RR rotation is:

(Balanced)
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